Trefftz method
Vu(x)=0, xeD

u(x)=cos(3¢), xeB

(a) By choosing T-complete set, Inr, Ecose, Esim9, izcosze, izsinZH,find
r r r r

the Trefftz solution using the point collocation approach.

(b) By choosing T-complete set, Inr, Ecost9, EsinH, %00326’, izsinze,
r r r r
1 1. 1 1 . . . :
—€0s34, r_35m39’ r—400$49, r—43m40,flndtheTrefftzsqutlon using the
r

point collocation approach.

Extend the HW?2 to exterior problem (Two cases r =1andr =2)

u(x) = In2+écos(3¢9), xeB

Ans  Exact solution u(r,H):Inr+igcosst9
r
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